



Navn: _____

Dato: _____ Score: _____

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{4}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{5}\right) =$$



Navn: _____

Dato: _____ Score: _____

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{91}{100}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) = \frac{25}{54}$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{25}{54}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{5}{36}\right)$$

$$\left(\frac{3}{4}\right) + \frac{1}{5} = \frac{19}{20}$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{33}{64}$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} = \left(-\frac{1}{10}\right)$$

$$\left(\frac{3}{4}\right)^3 - \frac{2}{5} = \frac{7}{320}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{437}{1080}\right)$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{9}{100}\right)$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{2}{5}\right) = 0$$

$$\left(\frac{1}{4}\right)^2 + \frac{2}{5} = \frac{37}{80}$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{5} = \left(-\frac{103}{180}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) = \frac{3}{8}$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{2} = \frac{5}{8}$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} = \left(-\frac{71}{250}\right)$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{4} = \frac{31}{108}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{5}\right) = \left(-\frac{71}{320}\right)$$